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Stilgty 23 e (kg) 4 (1) B | b e | M (BLfL)
30300 A% 11 756 22 22 22 | BN 354%
Y3003 b9 EIMNDF 7 467 65 65 65 | B Tkg
Y3005 =¥ A% 6 842 140 140 140 | BN 63
Y3006 | =¥ (ZEAT) 4 1, 296 324 324 324 | BN 4kg
33810 HHIFE 3 173 11 11 11BN 163
31700 ¢~ 70 10, 206 1,674 1,674 540 | BP9 T — A
31800 &) NAKE 29 13, 894 97 97 92| BA 1463
31950 HAE 5 1, 080 86 65 65 | BP9 153
34400 | b= b 60 21,125 378 367 216 | B 60kg
035220 X AMEBIE 1, 588 378 378 378 | BN “4kg
35300 B —2 1, 490 648 648 648 | BN 2kg
35303 | A} v TEIAED 10 1, 712 324 54 54 | B 10kg
Y3026 Afy7  EZ ALY D (FE) 19 5,983 356 356 216 | BN 19kg
Y3115 [ FEXAED 4 432 108 108 108 | BN 4kg
35402 | AFEE 6 5,616 1,080 864 864 | BN ~ 6kg
Y3037 HLiZDH 50 6, 480 130 130 130 | B © 50kg
36200 FEEhE 46 5, 465 119 119 119 | BW 46kg
36260 = L w7=n» 170 20, 844 1, 404 1,080 1,080 | &M 1747 — A
36600 7-EhX 60 7,776 130 130 130 | B 60kg
33410 Y=—LF R 3 918 65 59 59 | BN 1548
33600 /3t Y 2 140 22 11 11| BM 104
Y3030 |#&IEAE () 6 10, 368 1,728 1,728 1,728 | BN 6kg
30910 T35 4 via 1 227 76 76 76 | BN RESS
46108 EMIEONEE 34 36, 688 356 324 205 | BN 112/% 7
71010 | K% 3,953 16 12 12| BN 3104
71011 | AT L—% 23, 004 32 17 12| BA 1, 2704
71090 R H—F R 12, 852 54 54 43| B 2607
71150 LiE 1, 339 43 43 43| BN 31K
21179 Y h F 216 216 216 216 | B 13
53456 | 7= ik 4 1,296 324 324 324 | B [4kg
Y5010 obiEx (&) 2 1,242 540 540 540 | & 2kg
130100 7SV T A 160 8, 532 76 54 2| BRE 1604
30300 A% 50 11,772 3,996 1,944 1,944 | EIR B 5% — A
31100 H¥ 60 5, 184 1,404 1,296 1,188 |ElF Al —R
33500 YT FH 2 259 11 11 11 |8 2448
33810 HREZE 4 1, 404 1, 404 1,404 1,404 |EEIRE 1r—2=
33810 FHHE 4 1,080 54 54 54 BIRE 204%
Y5005 47k¥EA 5 1,534 1,534 1,534 1,534 | K4y 17— A
31700  F ¥ XY 150 10, 476 972 648 540 |EIR B 1565 —2A
Y3055 Ly R¥y XY 2 540 270 270 270 | EIR B 21#
31800 1ZHNAK 8 4,428 119 108 108 | FE VL5 404%
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e o B e #H
a—k e Hik | PR (kg) &% (M) =i g B PE (BAL)
31950 HRAE S 15 1,836 432 324 324\ K%y 54— A
31900 Ha ¥ 10 3,974 270 173 173 |ERE 205 (500g)
32800 125 10 2, 700 27 27 27 | 'S I 1003
34300 72% 50 13,932 1,458 1,350 1, 350 | fEA 1047 — A
34400 k= k 28 6, 167 929 864 864 |FEI & 14—
34460 I=LF & M 5 2,333 97 97 97 |EIRE 2% 7
34100 #K 65 9,234| 1,080 648 594 BERE 134 —=
34100 | #/I L 20 2, 592 648 648 648 | =I5 44—
34100 /K B 50 3,780 432 432 270 | BER 5 10%%
34200 K 50 8, 100 1, 620 1,620 1,620 =a2—— 5F—X
‘ A _

34500 bE—=< M 12 3, 024 65 22 22 ERE 1204%
34571 (T U H (R 1 1,037 130 130 130 | #&[E 81
34572 |RT YA (8) 1 691 86 86 86 | #[E 8fA

© 36200 |FHENE 7N 100 4, 860 540 486 486 | BE IR 5 10— A
36600 |- ERE N 220 8, 424 1, 080 648 648 | dL#EE 11% v k
33400 |L ¥ R 6 1,426 119 119 119 | £ 121&
33400 | L # R 6 1, 426 119 119 119 |BRE 121#
33600 /3t Y 1 54 11 11 11 |#&fH 54%
38100 A L\oit B L 8 5, 508 86 65 65 | B IR 80,8y 7
Y3137 Iy 7 AHRL 5 518 22 22 22 | K45y 244%
31500 /MAZE 4 1,512 1,512 1,512 1,512 |G 17 —2

31500 /MR 12 4, 428 76 76 65 | IR & 6048
32500 A 2 864 54 54 32| K%y 203
34800 #BL B 1 529 38 38 38| & A 14% > b
37560 BHIX 1 3, 380 324 324 238 | K%y 12,3y 7
37560 BRI 0 162 162 162 162 |EIR B 1Sy 7
36400 72A D L 10 4, 320 4, 320 4, 320 4,320 | HE 1=
38300 729 2 810 54 54 54 | R 1548
38400 2D EH 20 3, 564 18 18 17\ ERS 20048
41410 LEY 15 10,260 10,260 10,260 10,260 | 7 AV H 17/ —=R
49300 F 17 4 T N—Y 5 2,916 2,916 2,916 2,916 |%&[H 17—

» aFt 1,798 359, 038




